GO — error estimates

By hp-adaptive discontinuous Galerkin method, solve the problem

—V - -AVu+V-(bu)=0 in 2 :=[0,4] x [0,4] \ [0,2] x [0, 2],
AVu-n =gy on 'y =17UT,,
U= up on I'p := 00\ 'y,

where A = 107°I, b = (29, —21), and
e up = 1 on the edge {x1 = 0};
e gy =0o0n Ty :={I";21 =4} and I'y := {I'; 2o = 0};

e up = 0 1s set elsewhere.

Compare “residual error estimates” with the “goal-oriented error estimates” for
Jv(u) = [,u(z)dz, E :=(2.5,3.5) x (2.5,3.5), Jy(u)=0.20314158 &= 1075,

Jp(u) = fGB b-nudS, Gp:=T4, Jp(u) = 0.07408122 £ 107,
JD(U) = fGD bnudS, Gp:=1T1U FQ, JD(U) = 3.9670304 + 107 7.

Hint to solve:
e directory BiCG contains the following .ini files:

— carpiolshaped-interError.ini
— carpiolLshaped-JV.ini
— carpiolLshaped-JB.ini
— carpiolLshaped-JD.ini
e running of the code: ../SRC_0/Adgfem carpioLshaped-interError.ini

e visualize results by paraview
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